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2E0Z KEBSH-}23 HE 56,921 154,451
o= KEBSH-2& 0.01 6,275,341 268,493
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7) 7|Elo|=3 0 47,211,279

9) MzH|E 0 521,282,006

11) Mg elA 4,673,770 4,754,840

14) R DRpA 0 0

2. H| 7St 0 74,943,969,884
4) 7754 0 0

5) FEXRA 0 74,943,969,884

EX| 0 37,484,263,334

e 0 46,922,388,133

LIS A M (RE R E) 0 -9,462,681,583

6) AR SA 0 0

7) XM 0 0

PN | 50,561,274,530 80,646,305,969
1. FSEA 5,754,000,637 3,180,199,903
4) 7|EMd == 0 39,614

6) o|X== 55,000,000 51,890,740

7) OlX|=H[8 0 44,829,435

8) === 1,600,440 1,429,270

9) EItMo = 2,694,309,775 78,920,422

3,003,090,422

3,003,090,422

41,401,196,000

3) AIxtdF 0 38,510,000,000
5) Hfs2SZ 0 2,891,196,000
£ & & A 5,754,000,637 44,581,395,903
1. A2 41,000,000,000 41,000,000,000
1) ESFxE2Z 5,000,005,000 5,000,005,000
2) ERFXEF 35,999,995,000 35,999,995,000
2. AYoizd 0 0
3. XE2xd 0 0
4. J|BfEZEQ =AY 0 0
5. o|dYoiF(E&3) 3,807,273,893 -4,935,089,934

44,807,273,893

36,064,910,066

50,561,274,530

80,646,305,969







=S| H 2177 |[ZF2l 2021.01.01 =2 2021.06.30
M7 M 207] 7 Alztel 2020.07.01 S22 2020.12.31
SIAE: FAIS|AL H O|LX 55 ¢ EH 22| F S AHF RIS AL (Chel @
H 21 (E)71 Hl 20 (M)7]
ﬂ}% %OH —10H
=2 3 =P s 22 3714 HMI|+H

. AL 1,390,406,152 2,721,790,291 1,126,433,604 2,373,876,709
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V. IdYHeH|E 304,060,937 588,929,431 290,525,247 583,733,773
1) O|XH| & 284,868,494 569,736,988 290,525,247 583,733,771
10) 7|EtE A e(H| & 19,192,443 19,192,443 2
VI, HelMb| 8RR 0| (&4) 9,247,561,301 9,490,646,370 110,607,045 279,058,663
Vil g0l (£41) 9,247,561,301 9,490,646,370 110,607,045 279,058,663
IX. Z|EtZ 20| (&4) 0 0 0 0
X. BEIo[(&4) 9,247,561,301 9,490,646,370 110,607,045 279,058,663
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4 39
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. olloiFx =M -9,959,870,250 —748,282,543
4. g 9,959,870,250 748,282,543
ERFeguEa 9,959,870,250 748,282,543
N 2| T gl

gg’)‘p'ol dojd2ol o= (mIH2lZ -6,152,596,357 5.683,372,477




HIASEE
S| M 217 7|2 AR 2021.01.01 SEY 2021.06.30
MZ| ™M 207] 7|2 A&t 2020.07.01 2L 2020.12.31
B|AKH: ZAIS|A} 7 O| UM 55 9| EFRIE| 2 EAE XIS A} (el &
e H 21 (27| Hl 20 (M)7]
=4 =94

| gdelgtzoz o5t g5 E 2,591,454,541 746,957,963
1. 27|0l2(&4) 9,490,646,370 279,058,663
2. g7|=o0|e) =X™g fls 71 -9,615,800,687 469,223,880
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J|Eloj=3e| ME 47,292,349 165,120,940

MZH| 8o HE 81,052,577 30,207,621

J|EtdsZEe HE -39,614 -55,523,200

olxlg2gel Hs 3,109,260 -117,754,702

o|x| gt 82| HE -44,829,435 3,154,399

ool Mz 2,615,560,523 -36,459,293

Il FXgEoz 2lst 3Z5E 85,000,000,000 0
1. BX2EoR QI HERYUA 0 0
2. EXEECR st HIREY 85,000,000,000 0
T FE -85,000,000,000

. jregsoz olst 6gqs s -39,258,282,543 -1,040,246,974
1. MegEoR olsh 3R 0 0
2. MREso=z st HFFENM -39,258,282,543 -1,040,246,974
A7|xtelFel Atz 38,510,000,000 372,000,000

tig=el x= 748,282,543 668,246,974

N, BELeas ved Hanuad 48,333,171,998 ~293,289,011
V. Ba IR =52 48,333,171,998 -293,289,011
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2021 .OQEL)SO(%WI 5,000,005,00 | 35,999,995, 3,807.273,89 44,807.273.803
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